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S_ 3B SNE (1258)
AL F 2S5 —DBB (318)
(R K A OUT | IN |GROSS|HDCP| NET
1 WM £ 44 37 81 11 70
2 X% =it 43 41 84 9 75
3 HE EHS 42 416 88 13 75
4 RE SID 44 44 88 13 75
5 £l #683 41 44 85 8 77
10 REB BT 48 44 o2 12 80
15 g B 44 50 94 13 81
20 Fd =a I % 49 46 95 11 84
BG WM £ 44 37 81
B#kLF+ 1S5 —DEp (53%)
(LY K & OUT | IN |GROSS|HDCP| NET
1 NB =8 51 44 95 29 66
2 =1 2 BN 42 48 90 23 67
3 =28 {3 47 46 93 22 71
4 =8 & 42 51 93 22 71
5 = e 51 50 101 30 71
10 RE Btb 48 47 95 22 73
15 e ] 47 45 92 16 76
20 NAE  FE 52 48 100 23 a4
25 HE 1E8 54 51 105 27 78
30 &0 ZE6R 50 47 97 17 80
BG Bo B0 & 47 43 90
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TOSVRIZT « UT 1 —ADED (41%)
Ry K A OUT | IN |GROSS|HDCP| NET
1 ey XE 39 40 79 10 69
2 Bz 5h 42 44 86 17 69
3 P2 = 41 38 79 4 72
4 XEF ©&— 43 38 81 9 72
5 RE 585 50 45 95 22 73
10 AR =X 53 51 104 30 74
15 =20 mS 44 49 93 18 75
20 (=} o 53 47 100 24 76
25 [ & IE: 44 53 o7 19 78
30 SN EN 48 53 101 22 79
BG B 5] 41 38 79

¥ ARZAMNORTORYVARDBEIFETYFUIRAT7H—RARIZTRE




